
From:   Larry DiNino   

To:   Behnam Ghaffari   
Date:   August 21, 2007

Subject:   FCC File No. 0348-EX-ST-2007
----------------------------------------------------------------------------------------------------------------
Message:

The code should be 388MF7E.    
F=FM  7=two ore more digitized channels  E=Telephony(voice). Generally when people specify output
power they use ERP. ERP=(Transmitter Power)x(Antenna Gain).When a radio station says they have
100,000Watts of power they really might have Transmitter Power=20,000Watts with antenna gain=5.

Sincerely,   
Larry DiNino


